




































































































3.2 a = 170”, b = 150”, c = 10”

mml Gtmh?lf

Lwdl b + c  =  150°+100  =  1 6 0 ”  LlRt a  =  170’

c3YL~il b+c$ a

3.3 a = 170”, b = 150”, c = 50”

elml LOUId9aiIG

rwaxi1 A’ = 180”-a

= IO”

B’ = 180” - b

= 30”

LLAt C’ = 180”-c

= 130”

~iluyu~~RluuQJwlun~~~~~~~~~Q~  ABC

her A’+B’+C’ = 10”+30”+130”

= 170”

&er%%1 180” Q A’+B’+C’

3.4 a = 30, b = 50, c = 70”

B1m.l LBu~m

LW2ltil  a+b > c, a+c > b LLRt b+c > a

LLRZ A’ = 150”, 8’ = 130”, C’ = 110” L~WBiOJ~~QlUllOJRl~~~~~~~~~~~

“ll0.l A B C

lnll A’+B’+C’  = 150”+130”+110”

= 390”

ChM-h 180” < A’ + B’ + C’ < 540”

MA 337(H)






